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Full Marks : 100
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 The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
. own words as far as practicable

Hllustrate the answers wherever necessary

[OLD SYLLABUS]
1. Answerany five questions : ‘ 4x%x5

(@) Discuss the features of contract costing.

(b) How can idle time be controlled ?
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(¢) What do you mean by ‘Break-even Pomt' and
"™Margin of Safety' ?

(d) Define 'bill of materials' and explain
purpose.

(e) Whatdo you mean by 'Time-keeping' and
'T'une-bobking' ?

(f) Distinguish between ‘Cost appomonment'
and 'Cost absorption.’

(g) Outof LIFO and FIFO which method would
you recommend for pricing of stores and
why ?

(h) Give the functional classification of overhead
. with suitable example of each such class.

() Define 'direct materials' and ‘direct
expenditure’ and give two examples of each.

(/) Classify cost according to element with
examples in each case.
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2. -Answer any five questions : 8x5

(a) A manufacturing concern uses half yearly
500 units of a material. The cost per unit of
the material is T 20. Order placing cost per
order is X 40. Inventory carrying cost is
10% p.a. per unit. The concern gets an
offer of trade discount for bulk purchase of
material at a time from the supplier for which
material cost per unit will be reduced
by 10% .1Is the offer of trade discount

- acceptable ? Give detail working in support
of your answer. 2+6

(6) From the following data as certain the total
earning of each worker separately under
Halsey and Rowan scheme of incentive
payment. 4+4

() Worker A B C
(ii) Timeallowed(hours) 3 4 5
(iii) Actual time (hours) 5 3 3

(iv) Basic rate of wage
per hour ¥2 T2 =2
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{c) Break-Even Sales of Basu Ltd. duringa

C)

2016
January

"
"
N
"
]
"

"

certain period ¥ 2,50,000 and its P/V ratio

was 20%. The net profit for the same
period was % 30,000.
Find out—

() Fixed cost of the company during that

period

(ii) Actual Sales and _
(iii) Margin of Safety ratio. 4+2+2

From the following particulars relating to
material 'S' prepare a 'Stores Ledger Account'
under LIFO method. 8
1  Balance 600 units @ ¥ 6-00
4 Purchased 1100 units @ ¥ 6-60
9  Purchased 800 units = @ X 7-20
10 Issued 1200 units :
15 Surplus 10 units

18 Purchased 1000 units @ X 6-60
24 Issued 900 units

29 Shortage 20 units

30 Issued 700 units
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(¢) What is Labour Turnover ? Mention the
different causes of labour turnover. 3+5

() What factors do you consider before
installing a suitable Cost Accounting
System ? g

(2) The following figures for the month of
. March, 2016 were extracted from the cost

records of Y & Co. :
Raw materials consumed < 4,000
Direct labour cost % 6,000
Factary Overhead T 500

Administration overhead 20 % on works cost.
Selling and distribution overhead 6 palse
per unit.

Units produced 20,000
Units sold (at a profit of 20 % of
selling price)—18,000.

You are required to prepare a cost sheet,
showing profit for the month of March
- 2016. ‘ 8
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(h) Distinguish between job costmg and contract
costing. , 8

(?) Discuss the advantages and disadvantages of
integrated accounting system. 8

(/) Discuss about Marginal Costing, Absorption
Costing and Direct Costing. 3+3+2

3. Answerany two questions : 15x2

(a) ICo. Ltd. produces product 'M' through two
distinct processes—process I and Process II.
On completion, it is transferred to finished
stock. Form the following information
relating to the year 2015-16, prepare
Process [ Account and Process Il Account
and Finished Stock A/c.

Particulars Process [ Process II
(i) Raw material used 1000 units -

(ii) Cost per unit €20 -
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Particulars  Process [

- (##i) Transfer to next
‘ process/finished

stock | 940 units -

(iv) Normal loss
(oninputs) 5%

(v) Direct wages T 15,600
(vi) Direct expenses  75% of

Process II

- 870 units

10 %
Z 13,200
75 % of

direct wages direct wages

(vii) Sundry expenses -

(viii)Realisable value
of scrap per unit T 4-50

< 2,954

=575

800 units of finished goods were sold at a profit
0of 20 % on cost. Assume that there was no.
opening stock or closing stock of work-in-

progress.

6+6+3

(b) The following amounts were spent by Raja
" Construction Ltd. on a contract still unfinished

on 31st March, 2016 :
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T

Materials sent to site 90,000
Labour engage on site 78,000
Plant installed at site (at cost) 20,000
Direct expenses - ' 3,500
Other charges | - 4,500
Materials returned to store 600
Work certified - 2,00,000

Cost of work not yet certified 5,000
Materials in hand (on 31.03.16) 2,000
Wages accrued due (on 31.03.16) 2,500
Direct expenses due (on 31.03.16) 300
Value of plant (on 31.03.16) 12,000

The contract price was agreed at ¥ 2,60,000
and cash recetved from the contracter
amounting to ¥ 1,90,000.

Prepare Contract Account. 15

(c) What do you understand by 'maximum
level' and 'minimum level' with regard to
maintenance of stock ? How different
levels of stocks are fixed explain ? 4+11
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(d) Write short notes on the following
(any three) : 5x3
(i) Standard Costing '
(if) Escalation Cause
(iii) Purchase Requisition
(iv) Work-in-Progress
(v) Merit Rating.

[Internal Asessment -7-_10 Marks ]
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(i) Worker . A B C
(i) Timeallowed (hours)3 4 5
(iii) Actual time (hours) 5 3 3
(iv) Basic rate of wage '

per hour T2 T2 w2
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() >t o [ff8 smow Basu Ltd. @3
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2016
January 1  Balance 600 units @ ¥ 6.00

m 4 Purchased 1100 units @ % 6.60

» 9 Purchased 800 units @ X 7.20

v 10 Issued 1200 units

v 15 Surplus 10 units

w 18 Purchased 1000 units @ ¥ 6.60

n 24 Issued 900 units

w29 Shortage 20 units

n 30 Issued 700 units
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(%) Y & Co. aa’iﬁwm BYRA KT 2016
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i T ¢
Raw materials consumed < 4,000
Direct labour cost %2 6,000
Factary Overhead T 500

Administration overhead 20 % on works cost.
Selling and distribution overhead 6 paise
per unit.

Units produced 20,000
Umts sold (at a profit of 20 % of
selling price)—18,000.

2016 m%mm A= ﬁ‘fﬁ
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Particulars  Process I Process 11
() Rawmaterial used 1000 units = =

(ii) Cost per unit 20 ’ -
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Particulars  ProcessI  Process II

(iii) Transfer to next

process/finished

stock 940 units 870 umts 5
(iv) Normal loss L

(on inputs) 5% 10 %
(v) Direct wages < 15,600 T 13,200
(vi) Direct expenses 75% of 75 % of

direct wages direct wages

(vii) Sundry expenses - T 2,954 .
(viii)Realisable value :

of scrap per unit <X 4-50 T 5-75

800 units of finished goods were sold at a profit
0f20 % on cost. Assume that there was no
opening stock or closing stock of work-in-

progress.

b+b+e
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T
Materials sent to site 90,000
Labour engage on site - 78,000
Plant in stalled at site (at cost) 20,000
Direct expenses 3,500
Other charges 4,500
Materials returned to store 600
Work certified 2,00,000

Cost of work not yet certified 5,000
Materials in hand (on 31.03.16) 2,000
Wages accrued due (on 31.03.16) 2,500
Direct expenses due (on 31.03.16) 300
Value of plant (on 31.03.16) 12,000

The contract price was agreed at X 2,60,000
and cash received from the contracter
amounting to ¥ 1,90,000.
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